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Exercise Set 3

For October 15, 2003

Chapter 6

1.  The algorithms that appear in the section “Simple Applications of the ADT Stack” involve strings.  Under what conditions would you choose an array-based implementation for the stack in these algorithms?  Under what conditions would you choose a reference-based implementation?

2.  List the changes that you must make to convert a program that uses an array-based implementation of a stack to one that uses a reference-based implementation of a stack. 

3.  Use the algorithms in this chapter to evaluate the following infix expressions:

a. a+b-c

b. a+(b-c)*d

c. a+b-c+d*e

Assume the following values for the identifiers: a=7; b=3; c=12; d=-5; e=1.  Show the status of the stack after each step.

4.  In the StackArrayBased class given in this chapter, add a method called popandDiscard that removes and discards the user-specified number of elements from the top of the stack.  This method does not return a value and accepts a parameter called count of type int.

5.  Execute the HPAir algorithm in the chapter with the example map from the chapter for the following requests.  Show the state of the stack after each step.

a.  Fly from A to F.

b.  Fly from D to A.

c.  Fly from A to G.

d.  Fly from I to G.

e.  Fly from F to H.

